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QUESTION 1

Which part of the OSI model contains the Signalling Connection Control Part protocol? 

A. Data link layer 

B. Network layer 

C. Transport layer 

D. Application layer 

E. Presentation layer 

Correct Answer: B 

 

 

QUESTION 2

Which two rating groups would be included within the AVP Multiple-Services-Credit-Control within the CCR-I message
by the Cisco ASR 5000 GGSN? (Choose two.) 

A. 100 

B. 400 

C. 300 

D. 200 

E. 500 

Correct Answer: CD 

 

 

QUESTION 3

Which two functionalities does an update PDP context request sent from the GGSN to the SGSN provide? (Choose
two.) 

A. Provide a PDP address to the MS. 

B. Check that the PDP context is active. 

C. Delete a PDP context from the SGSN. 

D. Establish a network-requested secondary PDP context activation procedure. 

E. Establish a network-requested primary PDP context activation procedure. 
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Correct Answer: AB 

 

 

QUESTION 4

Which two services does GPRS support? (Choose two.) 

A. MMS 

B. SMS 

C. Video Calling 

D. EMM 

E. ESM 

Correct Answer: AB 

 

 

QUESTION 5

What two routing keys can be used to filter SS7 messages? (Choose two.) 

A. DPC 

B. DPC [+SSN] 

C. IMEI 

D. MSISDN 

E. IMEISV 

Correct Answer: AB 
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